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denotes an imperfect/incomplete flower (male)?
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Based on the figure below, which refers to the
complete metamorphosis (grasshoppers) and the
incomplete metamorphosis (butterfly).

what do the numbers (1), (3) indicate?
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Which diagram shows the pupa stage of

the butterfly's life cycle?
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Based on the figure below that indicates the o Al sl Adae ) i A oliaf Alstacal) ) Talisa
photosynthesis in the plant. S Agall ol ddlae B dasdiieall ALl £gi La ool
What type of energy is used in photosynthesis?
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Based on the figure below that indicates a food chain on land.

Which of the following numbers refer to a secondary consumer?
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The picture below shows the relationship between ants and il Laic i) Sady Jaill cou A3Mad) gy olial JS&
the Acacia tree. When scientists used chemicals to get rid of  jladi (gaa) Io 3sagall Jail) (e (aldill AL dga slalal)

ants on one of the Acacia trees, they found that without the !l J,. Wi add cila .Ja’;n G & 1gaad Ll
ants, the tree died soon after! Which of the following Chaiud) fad igal Audall cud) Sy o s H;i

represents the real cause of death of the Acacia tree?
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